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Part ‘A’

1 Attempt any 10 questions - 10%x2=20
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(i) Define attribute. List its types. ]
TEegE F gRET 2R | T R yBrRE 3

T T |
(&‘»’5 What are different normal forms ?
fyfyr Ao weE | /0 ¥
gv) " What is meant by multivalued dependencies ?

s RASTT (Prefard) @ § ¢

(vi) Whatare the differences between candidate

key and super key ?
Sfae gy T g A T T ARE 7
\')/4Mention any two sfeps in the data mining

pI'OCCSS

(3) 2K5-DS-4

@{{ What is primary key ?

qEAd @’ & T aftr ¥ g

(xiv) Write usage of select statement in SQL.

®

(i)

SQL # “Rydtae Ve’ & Iugn fafaq

Attempt any five questions :—  5x4=)g
fost diter st & S A -~

Define Join and Outer Join and differentiate

between them. i
Join (sia=r) @&m Outer Join (3eeX arg=) &

TRETST FHIRE T& T SR WL DHied |
Consider the following relation :—

fFafafaa =g Rad :—

de, dept, head, time)
oS Mat

asmﬁmw%%

o7 4% T & IO F1E
Define relatlorH Efffj’g‘;e aﬁﬁq| p | omate. g reyb|Mfe|s|slpf can work in more than one
g 2erdg @ Rt dept.
(x) Describe object oriented approach. o NHET o & o R § e a
s e o @ T o | T &
(xi) Explain DBA. (ii) The time he spends in each dept is given.
DBA & fad=mn i | Tde e § amar Tar g Rar mr
(xii) Whatisfile? (iii) Each dept has only one head
wET AT ? yae R 7 daw & & va ¥
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2K5-DS4 (4)
Draw the dependency diagray, for (5) AK5-DS—4
e

relation by identify:
above y ao::@_sm the 3 (#) Define dataindependence. Explain briefly the

a%o:%.:o_ow. types of data independence.

Rsfrrait @ T BT IR & T 3y Yo ‘gt () 1 oA A |

P fort e | Rt s o S e e
,VVE\ Explain strong and weak entity, B

R CIE ﬁ&&ﬂ@wﬂﬂﬁg_

‘. s,.rwaamw describe the “dead lock”.
(iv) Describe the algorithm to draw the +

T it e e A |
P

dependency graph. . |
Explain all the normal forms with example.

foretan T F R il LT ,

%MM (e p %@w e B @ Sae & wE faeEm

_
|
(vy’ ExplainDBMS architecture. @@E |

DBMS anfedeat a1 fde #if | g.. ; mﬁ_ﬁ is functional dependency ? Give one

“Cexample.

5 - Differentiate between logical view and

mqgamoa view of database.
i’

Write short note on database security.

e w ot o | o e o e o A |
(viif HowisER data model useful ? 6 (a) Explain detail multimedia database.
Part ‘B’ (b) Differentiate between database system and
9T q file system.
— uxnc“mc AL ﬂaﬂ% qar GIEw UG § =]

Attempt any three questions

et i Wt @ S A - R |
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2K5-DS—4 (6)

7 (a) Explain one-to-one, one-to-many and many- -
to-many relationships with suitable example.
SUTHRT ISTE0T & A : Teh-9-Ueh, THh-q-31h
T SHH--9h G-l &t e @ifor |

(b) Differentiate between generalisation and

specialation with examples.
TR T WAARANT F SaTeN & 9
S I |
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